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B.6.1 Computing q′N , T2 and kc

The input relative fuel power (q′NFRAC) is changed to linear ele-
ment power (q′N) by multiplying it with the initial linear element
rating (q′Nmax

) as given by DD25 of the SRS.

q′N = q′NFRACq′Nmax ; (B.8)

This q′N is used to determine the relevant temperatures for the
fuelpin. We evaluate linear element power as
〈Calculation of q′N 17〉 ≡17
∗q N = ∗q NFRAC ∗ (∗q Nmax);

This code is used in chunks 15 and 57

Now, we evaluate T2 in steady state by first setting the time
derivative term of Equation B.1 to zero as follows,

T1−T2

R1
= q′N (B.9)

Next we set the time derivative term of Equation B.2 to zero and
neglect the metal water heating term to get,

T1−T2

R1
=

T2−TB

R2
(B.10)

Substituting Equation B.9 in Equation B.10 and rearranging the
equation, we get the steady state case as:

T2 = TB +q′NR2, (B.11)

where R2 is given by DD12 of the SRS as,

R2 =
1

2πrchc
(B.12)

From DD18 of the SRS, we have the equation for hc as,

hc =
2kchb

2kc + τchb
(B.13)

Substituting Equation B.13 into Equation B.12, we get,

R2 =
1

2πrc

(
2kchb

2kc+τchb

) (B.14)

=
1

2πrc

(2kc + τchb

2kchb

)
(B.15)

The above equation cannot be evaluated directly in steady state,
because R2 is dependent on T2 through the clad conductivity
(kc) as given by DD15 of SRS. That is,

kc = aT2 +b, (B.16)
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